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Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 42

Number of Questions to be attempted : 42

Section Marks : 100

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 5521311115
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 55213112679 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

When a normal student behaves m an erratic manner in the class. you would:

&8 Fobm mCF';E_J SENES° oPrrde (B8N0 808053 9 do IFY?

Options :
Pull up the student then and there.
5030 D0 B2 JeBLEED
55213149801. ™ -
Talk to the student after the class.
S811& So=8 DTLE Sreptharid
55213149802. x

Ask the student to leave the class.

e ﬂmﬂ;g‘sﬁ SO DES E%’;E&:oe‘:ﬁ‘a
55213149803.



Ignore the student.

e PO HBoHE D
o [
55213149804.

Question Number : 2 Question Id : 55213112680 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

A teacher's most important challenge 1s:

&8 Garreaind (DerdDd Baren
Options :

To make students do their home work

DTdes 208K Dawosto
)
55213149805.

To make teaching-learning process enjoyable

*‘”’565—4"‘" 53 (BB wFEsss0 Jchto
55213149806.

To maintain discipline in the class room

SEHS KL (Bad ﬁ:‘*é" Jolulnle
55213149807.

To prepare the question paper

'-E""'Eﬂ_,,_‘:""h ?.'JCﬁ.."'“fl:'tﬁ
55213149808.

Question Number : 3 Question Id : 55213112681 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

A person can enjoy teaching as a profession when he
5 58 oG &V ST D0TBRPHEOE, ©SI8

Options :

has control over students.

DTHe T VADOER SR)ZPE
552131498009.

commands respect from students.

DTpRe B ol TR FPolda)d

55213149810.

1s more qualified than his colleagues.

JTFRErDe ST7) JE)S DudSen SOA SV
55213149811.

1s very close to higher authorities.

o0s%HeS® S0 PRS0 EON GBI
55213149812.

Question Number : 4 Question Id : 55213112682 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Maximum participation of students 1s possible in teaching learning through:
*"qﬁ—n"""* B3 (HBcHs® “‘Dﬂ“é:a RSP Sd) DoRPotoT HKE
od oo o

Options :



discussion method

35%) B8
55213149813. '

lecture method

SRTR0 DS
55213149814, i

use of audio-visual aids

&% —-F5e SEFH56ere DI@FNOSEO
55213149815.

Activity based method
S\aeroed SRS D8
g o &
55213149816.

Question Number : 5 Question Id : 55213112683 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following is not important aspect of the teacher's role in learning?

OfRN08 GPETae) (HErs PE Ao vodo HG?

Options:

The development of insight into exam pattern and scoring

$0E Do Jkure S0 ©LE S RHod Srgo drdosto
55213149817.

The development of insight into the pitfalls and dangers to be avoided

OgdNE° o BEotien HOD [EIrmreH ©fIiN0H JrSSD o
55213149818.



The provision of encouragement and moral support

P50 olcin I8 D vdrio

55213149819.
The provision of diagnostic and remedial help
SPOATBes SOAN AeBes SPsPEo ©oliodtso
55213149820, |

Question Number : 6 Question Id : 55213112684 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

What do you consider as the main aim of inter disciplinary research?

DG Tpe HEHTROS B0SES TwE), Swgy e

Options :
To bring out holistic approach to research.
HOTEIE® 3o G5B Dofrodosto
55213149821.
To reduce the emphasis of single subject in research domain.
H50S5H505 Jonobod) o8 e Dobs voeR Hoddo Ihdo
55213149822.
To over simplify the problem of research.
HoGme S0 JEFo Jawso
55213149823.
To create anew trend in research methodology.
Do a":cgéo@oc&: SR eBad ﬁéﬁ&oﬁitﬁo
55213149824. )

Sub-Section Number : 2



Sub-Section Id :

Question Shuffling Allowed :

5521311116

Yes

Question Number : 7 Question Id : 55213112685 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Field-work in research is mvolved in:

SEFow DY M &) HoSHe 850
&

Options :
Empirical
WeELE
55213149825.
Historical
oS
55213149826.
Experimental
BIFrES
55213149827.
All the above
55213149828.

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 8 Question Id

3
5521311117

Yes

: 55213112686 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

If a researcher conducts a research on finding out which administrative style contributes
more to institutional effectiveness ? This will be an example of

D Bodrore dopRo KodkNE MEFwS sS@ARITO™ SRUNn: of eodop ol

Options
Basic Research
BEo8 H0EHD
55213149829.
Action Research
Soedhs B0
55213149830.
Applied Research
@S0 H0-385S
55213149831. o
None of the above
RO Ty
55213149832.

Question Number : 9 Question Id : 55213112687 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following statements is not correct?

18 - r.'\,f;*' wh = Ty v T e P )
=00 TFPul” T (B3&aarlicn &

Ly



Options :

Obyectives of research are stated normally 1n first chapter of the thesis

Fordmore H08°G 006’ Imiid ermaodt S0 ogred B0,
55213149833.

Researcher must possess analytical ability
0D DI o) 59 somd
55213149834.

Variability 1s the source of problem

S6de Srordo $0SE5T Shrdres agrto
55213149835.

55213149836.

Question Number : 10 Question Id : 55213112688 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

A null hypothesis states that

Sy (DN (PSR 3eR 0D

Options:
There 1s no significant difference between the variables
SorHeBH e rHGoSENS Sonogo B
55213149837.

Same as research hypothesis

HOSES (DEONSBI Gotnod
55213149838.



Research results are predictable
HeSETe HDTren SVOHITE &3ZrPoSSASEMT SOt
55213149839.

There is a significant difference between the variables
Sorde g MHZoBENR Somoio St
55213149840.

Sub-Section Number : 4
Sub-Section Id : 5521311118

Question Shuffling Allowed : No

Question Id : 55213112689 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0 Allowed Progression :

Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In

Seconds) : 0 Allow Volume Control : Yes
Question Numbers : (11 to 15)

Question Label : Comprehension



Read the passage and answers the questions from 11 to 15:

The IT'Ts are now under the scanner of the Supreme Court following an SLP for allegedly continiung
irregularities and bungling in JEE for admissions. The apex court has issued notice to the Ministry
of HRD. The SLP was filed by a CS Profat ITT Kharagpur challenging the dismissal ofhis PIL by
the Delhi High Court in June 2010 on the ground that he had no locus standi to challenge the
validity of JEE. They are vet to disclose the complete data of JEE 2010. The evaluation scheme
was changed after the examination and there were serious flaws in admission counselling based on
JEE 2010 results.

The SLP also called for a single entrance examination. replacing all existing exams as IIT JEE.
ATEEE and State exams. It further says that the RTT data on JEE was ridden with many discrepancies
as adhocism in cut off determination. unattended errors in question settings/evaluation. tampering/
shredding of ORS inundue haste. selecting IIT administrators’ wards in some ITTs. closed admission
counseling resulting in irregularities in admissions and seats lying vacant. zero accountability for
attending to apparent etrors, poor ethics in JEE administration etc.

Proposals for corrective reforms have also been suggested in the SLP. A committee of independent
experts to formulate single examination system rather than close-door committee of four IIT
Directors too has been suggested. It has proposed seven reforms for JAB including release of
model answers along with solutions immediately after the examination is over, releasing of marks
at the time of results besides publishing status of vacant seats and filled-in seats on day to day basis
during the adimission counselling.
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Sub questions

Question Number : 11 Question Id : 55213112690 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes



Correct Marks : 2 Wrong Marks : 0

What 1s wrong with II'Ts now?

STy [ITS® 2200 ST HNE?

Options :
They have academic freedom.
08 TR0 KooGodS R &0l
55213149841. &
The get enough funds.
SN Agben FPoth&HT
55213149842.
There 1s mismanagement of admissions.
D& SerovoPudteisssten
55213149843.
Education in ITTs 1s very expensive.
[[Ted® 5tH) Trer pERIt.
55213149844,

Question Number : 12 Question Id : 55213112691 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes
Correct Marks : 2 Wrong Marks : 0

Why did the High Court dismiss SLP?
';3;"?% SLP Q0595 89 Jooh?
Options :

It has no truth mn 1t

TR SH0 B
55213149845,



Itis expensive
30 o RS0
55213149846.
Plamtitf does not belong to that area
Ro0dD & [FromEdl Told T R
55213149847.
The data was not correct
eR RORO =D
55213149848.

Question Number : 13 Question Id : 55213112692 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0



Which are not discrepancies of JEEs?
JEE G &°aren 5200 2D?
1L Cutoff determunation
Sedesn Q8o
1. Mistakes in question settmgs/evaluation
©H3 oD Ddord Do Srerostes® Edpen
m.  Tamperng of ORS leisurely
ORS 9 Taylre Shosto
. Selecting IIT administrators " wards i some ITTs
IIT Qoviren ) TEED 008 550
v.  Closed admission counseling with uregularities in admissions
$BEPRo®, B (H3F @B eEsren
.  Total filled seats
0 Dol Se DSoeen
vi.  Non-accountability for errors
e uromebsso 86
vi.  Bad ethics in JEE admuinistration

JEE ©&° ¢385 devde [@rsngrs

Options :

111 and vi

111 3050 Vi
55213149849,

nandv

1300 v
55213149850.

55213149851.



v and 1

Vil 300w 1

v and vit

1V s08ctn v
55213149852.

Question Number : 14 Question Id : 55213112693 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

What 1s the plan of the SLP?

SLP &n%) (Heds o20d?

Options :

To conduct a common entrance test

2.8 Arrde (BRE a..L.-S QG roSEeRs
55213149853.

To conduct tests at various levels

EeEAlw] :‘ﬂom &° ($3¥ HEZen RE-irosto
55213149854.

To mvite foreign admissions

Do BBTERos e Dosto
55213149855.

To mvest further m education

a,ci@" 00od mu”“ﬂ -y eﬁe:cﬁo
55213149856.



Question Number : 15 Question Id : 55213112694 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
Yes

Correct Marks : 2 Wrong Marks : 0

How can the examination system be improved?

SO D Der HIHDHDOL?
[is]

Options :

By going for online assessment

OIES 2RVoT D Ko T
55213149857.

By mntroducing CBTs

CBT o $0sabo Hahiso wooe
55213149858.

By making the examination descriptive

Davere)s 865 oo
55213149859.

By implementing the reforms

JoBred v Iabio TrT
55213149860. s
Sub-Section Number : 5
Sub-Section Id : 5521311119
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 55213112695 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which of the following 1s called dyadic commumnication?

& (@00 8 DO BES 55 dNAT 09 DeSntHEod?

-

Options :

Intrapersonal communication

0I0F TR SredBHaS
55213149861.

Iutelpemoual commumication

5088 HHNS émﬁ::s’iﬁ
55213149862.

Group communication

PEPErS SHTTIEHS
55213149863.

Mass commuunication

P 2RS S0 OSES
55213149864.

Question Number : 17 Question Id : 55213112696 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Some of the following lines are not related to oral communication. Find them out;
& (8ob Doed® FR) TS Sirmd (@Hrcod® Sonogo 30N BY. ED STk,
1 [tisspontaneous and natural
50 SPEREDIO SO SPEDI
i [tisnotnatural
30 BP0 D
m Itiseasy for others to understand
s8heD ebo TE%iko ego
v, Itis somewhat difficult tounderstand
20 Fos S8 eo RS0 %0
v. Itdevelops a good relationship between a speaker and a listener
50 35 B0 JRr0 Hify Hod donored) §HA Fhod
v Choice of words 1s one of the major things
Hro Q085 @R0 (SN FaE wid
vii.  Itis supported by non-verbal communication
50 Bisrd SirarS (@ERrdo eraed) pedtRol
i Itisnot co-related with non-verbal communication
20 BUrd SarmroeRd SiFEdonotio =
The right answer according to the code i

55 (Hz80 $BX SaireFRo

Options:

L uandiv

1. 113508 1v
55213149865.

v. viand vi1

V. V1 2508050 vil
55213149866.

viL viil and 1

Vi1, Vi1l 00 1
55213149867.



1. 1vand v

11, 1V 300 Vil
55213149868.

Question Number : 18 Question Id : 55213112697 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Match the followmng :
& |Bol D wED0d

List -1 List-II
=lr-1 i -2
1. Physical Barriers . Semantics

T85 o 8 Boewsialn (ReiroéS)

2. Psychological Barriers b. Technology
SRRRE eode POSBES (Bed)
3. Lngwstic and Cultural Barriers c. Hall Temperature
‘ B i 5O e288
P4 HOa oK) 185 vhowe i3
4. Mechanical Barriers d.  Self-image
ol L2
DRSS eione o) Higw
Codes:
G
Options :
l-c, 2-d, 3-a, 4-b
552131498609.

1-b, 2-d, 3-a, 4-¢
55213149870.



55213149871, L& 2-d. 3-¢, 4-D

1-d, 2-c, 3-a, 4-b
55213149872.

Question Number : 19 Question Id : 55213112698 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

communication includes individual reflection. and contemplation.

RoFRE’ ai;%r’ié @800 DO DINV0 ST,

Options :
Intra
2ESBo
55213149873. =
Inter
LOHSS
55213149874, 2
Mass
e e
55213149875.
Oral
%ﬂ@.g
55213149876.

Question Number : 20 Question Id : 55213112699 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

What 1s the most important quality of a good teacher?

o) rHhsy ny) B8 ey eFeo Hnd?

) [y

Options :

Written commumnication skill only

088 J3rerordS KowoGoH Jeo IrE
55213149877.

Command of the subject

RT3 WBI Hew 50N oo
55213149878.

Distance from the students

e ool Erdore ot

-

55213149879.

Compassion for students

e ero 580 eoliéco

=) [

55213149880.
Sub-Section Number : 6
Sub-Section Id : 5521311120
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 55213112700 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



A tram of length 120 meters long travelling with a speed of 54 kmph can cross a bridge of length X
in 30 seconds. The length of the bridge X (in meters) 1s

X Qe T $08%D 120 DY Pyie Ten, fotrdh 54 858 Twe Holrdr 30
26008 TEI6. 8 H088 TS ()

Options :

55213149881.

120
55213149882.

450
55213149883.

55213149884.

Question Number : 22 Question Id : 55213112701 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The compound mterest on the principal amount ‘P* for two years with the rate of 8% p.a. 1s Rs.
2.496. 1f the mterest 15 compounded annually. Then principal amount ‘P* 1s (in Rs.)

ATOQPN0 P’ 2 W06 )05 8% :Jt;is WP, B0 006 008 o B8 ar. 249
(509805055 BERKED HBB), @ond HFedN0 Errahod)
Options :

12,000
55213149885.

2496
55213149886.



15,000
55213149887.

20,000
55213149888.

Question Number : 23 Question Id : 55213112702 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

‘A" and ‘B’ mvested an amount Rs 21,000 and 17,500 respectively in a business. At the end of the
year, they make a profit of Rs. 26.400. Their individual shares m the profit s

2.8 T5rlsne A HOOM B © DEPBEN SEXT EF. 21,000 O 8r. 17,500 2,
N0 YTP0eh TO eraiand &, 26,400, 7ol & 0 aeren (&, 0F)

Options :
1.440: 1.200
55213149889.

14.400: 12.000
55213149890.

12.000; 14.400
55213149891.

1.200:; 1.440
55213149892.

Question Number : 24 Question Id : 55213112703 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

If P’ can produce 60 cakes in 9 days and ‘Q” can produce 70 cakes m 21 days, The number of days
required to produce 100 cakes together (in days) 1s

P “‘*\J“feo 60 Hod 9 Szod sardBodiod. B ek 10 oo 21 Sred
Xr&Tahko. 8890 0% 100 30 ) Fred dordEs ’%@fo’

Options :

3
55213149893.

9
55213149894.

10
55213149895.

11
55213149896.

Question Number : 25 Question Id : 55213112704 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The missing number in the following sequence 1s:
1806 ngc‘fméé S HODS QO
4,12, 84, 3612,

Options :

6526884
55213149897.



6523272

e

55213149898.

Fep il
55213149899.

14448
55213149900.

Question Number : 26 Question Id : 55213112705 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The missing group of letters in the following sequence is:
i b b Y v, W
808 E00S” SD0DS @0F T°e HAFTO:

SAB, RBB, QCD,PDD, =, NFF

Options:

CBY
55213149901.

55213149902.

OEF
55213149903.

YD
55213149904.



Question Number : 27 Question Id : 55213112706 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

‘CGIN’ 1s related to “ACDEF’. in the same way ‘DINQ’ is related to
‘CGIN’ & ‘ACDF’ & 0200850 §0¢%. eF dsnm DINQ’ & Ho20855m

Options:

BEHJ
55213149905.

BEHI
55213149906.

BEGI
55213149907.

BEGI]
55213149908.

Question Number : 28 Question Id : 55213112707 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

In a certamn code language, 1f the word ‘SPHERE’ 1s coded as EREHPS, then how 1s the word
"EXHIBITION’ coded in that language

2.£ 0% §6 2726 SPHERE 00 ‘EREHPSTT 44000, & 66 27i® EXHIBITION’ 30
Jer §8 &onad

Options :



NOTITBIHXE

55213149909.

NOITIDIHXE
55213149910.

NOITIBIHWE
55213149911.

NOITIBIHXE
55213149912.

Question Number : 29 Question Id : 55213112708 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

X+Y means X 15 the son of Y. X~ Y means X is the daughter of Y. X x Y means X s the father of

Y. X/Y means X is the mother of Y. IfAxB/C-D/E. then A ts related to E i3
X+Y @ X, Y G08) . X- Y @dm X, Y 008, Srehd. X x Y o X, Y 008} ok, X/ Y
O X, Y 0% 0. AxB/C-D/E @ond A0 E &Ko H50aodm

Options:

Husband

230
55213149913.

Brother

FOBCD
55213149914

Uncle

23°23P00 / 623%6N)
55213149915.



Brother in law

27 / 2”000
55213149916,

Question Number : 30 Question Id : 55213112709 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

In a class of students, 35 play cricket, 65 play football and 20 play both cricket and football. How
many students play at least one game.

28 SSEBSR Ao 55 500 B3 edad, 65 006 HEr)S sdeEd, HO0 20 H0O
Boch sten (B35 A H)er)6) ederd. Sdno 28 et e driden Jodd

Options :

100
55213149917.

120
55213149918.

&0
552131499109.

20

55213149920.
Sub-Section Number : 7
Sub-Section Id : 5521311121
Question Shuffling Allowed : No

Question Id : 55213112710 Question Type : COMPREHENSION Sub Question Shuffling Allowed



: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0 Allowed Progression :
Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In

Seconds) : 0 Allow Volume Control : Yes
Question Numbers : (31 to 35)
Question Label : Comprehension

Note: The questions Q. 31 to Q. 35 are based on the following information:

Habd: 9400 Q.31 0 Q.35 508, 808 darardo errdom &) on.
The number of students passed in class X of a school, in the three sections A, B and C , i four
subjects: Mathematics, Physical Sciences, Biological Sciences and Social science, is presented in the
followmg multiple bar diagram. Assume the number of students i each section is 40.
W TS, 105 s518S, 2, B Q00 ¢ oF Srd drrod, Tol dadred:
i, T8 TR, A9 TR SO Fod T & 48888 dde doay, &
Bod amd Tyrdgos WébptaFw. W8 drfoda Amde wog; 4w

4000080 &arohsod,

Mathe Physical Biolog cal Social

Sub questions



Question Number : 31 Question Id : 55213112711 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes
Correct Marks : 2 Wrong Marks : 0

The maximum possible number of students in section A, who passed in all the four subjects is,
o 'y ] T .Y 4 4 v, £ P S I Y A i
derko A S &) deded, Tend oo, K8a0T Gad)B dmide do;,

Options :

28
55213149921.

31
55213149922.

39
55213149923.

26
55213149924,

Question Number : 32 Question Id : 55213112712 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes
Correct Marks : 2 Wrong Marks : 0

Out of the number of students passed in Physical Sciences, the pass percentage of students in section
Bis

T & — &y
FRETIT0S 68088 dde 2093, 8B 62 6808 dode Téo

Options :



55213149925.

31.95
55213149926.

32.98
55213149927.

35.05
55213149928.

Question Number : 33 Question Id : 55213112713 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

The number of students in section C who failed in biology is

TR, b oo e = f — T T " .Q’—:'ﬂ"\ﬂ*-. n o W e
BT R0 ORI, WE® 'C' SR T ;DO DO

Options:

55213149929.

55213149930.

11
55213149931.

14
55213149932.



Question Number : 34 Question Id : 55213112714 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes
Correct Marks : 2 Wrong Marks : 0

On the three sections. the percentage of passing students in Mathematics is
Lurch Derme IS0, idsoS B o idhe Teo

Options :

40.3
55213149933.

68.4
55213149934.

13.3
55213149935.

80.8
55213149936.

Question Number : 35 Question Id : 55213112715 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

In which subject 89.166 percentage of students passed ?
P w4 = o - &y ;
D DACHO S 89.166 T°H0 HOO &3

Options :

55213149937.



Mathematics

HE3es 50

55213149938.

55213149939.

55213149940.

Physical Sciences
2T edE A e

Bilogical Sciences
2805 T Q3

Social Sciences
RO PAVEIE K [NV

Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

8
5521311122

Yes

Question Number : 36 Question Id : 55213112716 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
MICR stands for

MICRe&T

Options :

55213149941.

55213149942.

Magnetic Ink Character Reader

OIHTOS VTP BZTD) SO36

[="9

Magnetic Ink Code Reader

OIS VTP 558 3030



Magnetic Ink Cases Reader

©IHI8 bo ShHeod SO
55213149943.

Magnetic ink code recorder

©IHFES doe 558 TR0
55213149944,

Question Number : 37 Question Id : 55213112717 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

What 1s embedded system?

QoTRE 5358 2d?
¥ @

Options :
The programme which arrives by being wrapped in box.
a5 ffn....' B'Ju @tm.’ﬁ

55213149945.
The programume which is the permanent part of the computer
Soel &8 gritorr Hot [BHrd

55213149946. =
The computer which 1s the part of a big computer
Y Sogeel grriore $o% Soxgeerl

55213149947.

The computer and software system that control the machine

a8 aholerd) B80T Sogeed ook FHI6
55213149948. = = "



Question Number : 38 Question Id : 55213112718 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Options :
Cookies
5r8)
55213149949, )
Plug-ns!
SR-38
55213149950.
Scripts
(8953
55213149951. ko
ASPs
55213149952.

Question Number : 39 Question Id : 55213112719 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Protocol used by e-mail 1s

e- oS 6 Fe® =5

Options :

FIP
55213149953.

TCP
55213149954.

ID
55213149955.

POP
55213149956.

Question Number : 40 Question Id : 55213112720 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

As apart of Government to Business (G2B) intfiative the Government of Inidia has started the

followmg protral

Sehdro Sood) dero (G2B) & erifore (réE (HehEo [Be80dods 208
4] o G W]

Options :
GEM
Tatesl Dy
55213149957.
Diamond
o

55213149958.



Gold

selelgilele)
55213149959.

Chanakva

eeese
55213149960. -

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

9

5521311123

Yes

Question Number : 41 Question Id : 55213112721 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Chipko movement is a public agitation that occured in

Ty

2% stirho a8 20nol.
Options:

Mansbal area of kashmur

58,86°0 Srdfad (Frdo
55213149961. =

Silent valley of Kerala

-

8P Do

il

55213149962.

Sunderbans area of Bengal

Torre Jols 55;3
55213149963.

55213149964.



Ther1 Garhwal area of Uttar Pradesh

&8BNTIE®D BIr 1OS (Frodo

Question Number : 42 Question Id : 55213112722 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Higher amount of sulphur -dio-oxide (SO,) is emitted i the atmosphere by —

FES8eos® vfsor ¥e)6 Be8)E (SO,) & dbthe TR
Options :

Sugar Industry

S8 HOIER
55213149965. g

Thermal Power plants

585 D8 Soren
55213149966.

Food processing industry

©FE [aranof R0
55213149967.

Bulk drug manufacturing Industry

TR whs EJ.-'E.;.D SAPHTAD HOEH
55213149968.

Question Number : 43 Question Id : 55213112723 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No



Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Who said that the forest should be saved not because they are beautiful or because they shulter

wild creatures of the wilderness, but to only provide homes are jobs to people.

wotio 55ar B8 S de yievRs el =¥ BaeD 60, S Anerdd

©UIod Srbéored 00 ASh?

Options
Aido Leopold and Rachel Carson
08 OTFrS, O3S 2885
55213149969. =
Theodore Rosuest and pinchot
OTeE S S, Dot
55213149970. -
John muir and wangal Maathai
PR auronb, sond drmedd
55213149971.
David Brower and Barry Commoner
GO8 (58, =6 =0s8
55213149972.

Question Number : 44 Question Id : 55213112724 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Developing Nations were commutted fo drawing up their own plans for the emission reduction

for the first time m

e T0LER) Taped 4TFT0 B10GH 85 $r08 (HemdSe doind & SirFddod® Moot



Options :
Cop-20 Lima Climate Conference

.

B, r B s sl e, . el - all”

NEa=20 Dae Horratits Jarado
=

55213149973.
Cop-19 Warsaw Climate conference
& =19 Troe Hoereites & SrRdo
55213149974.
Cop-18 Doha Climate Conference
2e.2-18 P Homtes JErIdo
55213149975.
Cop-11 H}-’derabad climate conference
ded-11 Frioeerd HoeHde Sarado
55213149976.

Question Number : 45 Question Id : 55213112725 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The 2018 meeting of the G-7 Countries + k place in La Malbaie, Quebec, Canada and Donald
Trump administration officials even declined to use the phrase ‘climate change’ and instead talk

about
20186° e Srdirdh, 785, Sxeedt 20AS &-7 Do Sar3dodt ﬁ?mv ©0% ©lsd

=5
@&Per Dot Sr) OF Hed) PULPAS 859000, S0t atherr & %

Options :
Environmental resilience

Poerato umfad
55213149977. o



Sustainable Development

-

Ral(rday B
55213149978.

Ecological Economy

©0s Dot
55213149979. . =

Environmental Audit

Jorratoatore J0SEESo
55213149980.
Sub-Section Number : 10
Sub-Section Id : 5521311124
Question Shuffling Allowed : Yes

Question Number : 46 Question Id : 55213112726 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Today's Education system at higher education level is :

IO D I - SN DT %noaafﬁ & DFore &)

Options :

Supports traditional nature of teaching

Fodah S BEBD Doy
55213149981.

It is complex in reaching people

55213149982.



Imparts education according to social stratification

GeeloL-evt] ébé £ (@se8o DRotdol
55213149983.

Imparts same education to all strata of society

J3re06t) ©f Scre 08 e B 85305 SrS00%00
55213149984,

'L

Question Number : 47 Question Id : 55213112727 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Autonomy in higher education doesn't include freedom for the institutions in:

= :;u

ﬁé&e’ &:F“R.’r:@ Erdhded "‘"w‘@ﬁ ) &oéwﬁo =

Options:

Achnjnismﬁoﬂ

HOTPeOTTOoTD

55213149985.

Policy-making

HEseoRd Brarofiosto
55213149986.

Fmance

elsroTeeD
55213149987.

Curriculum development

iﬂm‘;m?u DseRdo
55213149988.



Question Number : 48 Question Id : 55213112728 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Environmental education is important for the students of higher education because

68 [LHR0D e dovEte: D Erangro QothERm?

o

Options :
to give them expert knowledge
DHSH JHee; HPrY) wolEcHRS
55213149989. '
to develop their awareness
BTN DOl oSS
55213149990.
to make them responsible for taking care of environment
QDoeites HOOFRH wrLid HirolteR8
55213149991.
to leave them with their own choice towards future environmental consequences
A8 HorStes HorESTFeN $020008 O Hrah efSSH S0DTahmDS
55213149992. = =

Question Number : 49 Question Id : 55213112729 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

NAAC is an autonomous institution under the aegis of:

Jraho (H858He S0 NAAC 50 86508° HOTND?
3]

Options :



8. 2. DR, wR.es8
55213149993.

CSIR

. . 0.8
55213149994,

AICTE

a.0.0.8.9
55213149995.

UGC

Bk = 2

55213149996, “o0-&-®

Question Number : 50 Question Id : 55213112730 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
Ancient Gurukulas differ from modem residential schools m providing except th following :

Yo oo™ MthHerer BHS BEDH FTeed®d Boff W) e.58 &) Shdrare

EZE:O:OBSJ

Options:
Accommodation
C‘C—..n\rﬁu{-r:\cm

55213149997, 5
Knowledge
DRSH DoeeRo

55213149998.

55213149999.



Vocational skills

A
odn€d
- =

%

fed

Universal Access

8BS ©othoren

55213150000.

Group Number:

Group Id :

Group Maximum Duration :

Group Minimum Duration :
Show Attended Group?:
Edit Attended Group?:
Break time:

Group Marks :

Is this Group for Examiner?:

Examiner permission :

Show Progress Bar?:

Section Id :

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

MANAGEMENT

2
552131168
120

120

No

No

0

200

No

Cant View

No

MANAGEMENT

552131168
1

Online
Mandatory

92



Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

92

200

Yes

0
1
5521311125

Yes

Question Number : 51 Question Id : 55213112731 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

“Management 1s doing things right; leadership 15 doing the right things." Which Management Guru

made this statement?
Options :

55213150001, C- - Prahalad

Gary Hamel
55213150002. "

Peter F Drucker
55213150003.

Michael Porter
55213150004.

Question Number : 52 Question Id : 55213112732 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 2 Wrong Marks : 0

Consider the following statements
L. A popular alternative to the marginal utility analysis of demand 1s the Indifference Curve Analysis
ii. An Indifference Map cannot represent more than five indifference curves

. The slope of an Indifference Curve sigmifies that when the quantity of one commodity
combmnation s increased. the amount of the other commodity reduces.

iv. AnIC 15 always convex to the origin

Which of the following statements are true?

Options :

Only 11
55213150005. 5

55213150006, 1 And 11

1. 11 and 111
55213150007.

1. uiand v
55213150008.

Question Number : 53 Question Id : 55213112733 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

This commuttee was set up i 1999 by SEBI to promote and raise the standards of Corporate
Governance in India
Options :

Naresh Chandra Commuattee
55213150009.



55213150010. Kumara Mangalam Birla Committee

N.R. Narayvan Murthy Committee
55213150011.

J. J. Iran1 Committee
55213150012.

Question Number : 54 Question Id : 55213112734 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Match the following characteristics of Elasticity of Demand
List-I List-IT

1. Perfectly Elastic Demand a. Also called Zero Elasticity

-2

. Perfectly Inelastic Demand ~ b. Demand for goods of daily consumption such as rice, wheat etc.

[

. Relatively Elastic Demand ¢. No practical importance as it 1s rarely found in real life

4. Relatively Inelastic Demand ~ d. If the price falls by 5%. the demand rises by more than 5%

Options :
1-d. 2-¢. 3-b. 4-a
55213150013.
1-a. 2-b. 3-d. 4-c
55213150014.
1-¢c. 2-a. 3-d. 4-b
55213150015.

1-b. 2-d. 3-a. 4-c
55213150016.



Question Number : 55 Question Id : 55213112735 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Identify the correct sequence of steps in MBO process
1. Performance appraisal
ii. Continuous monitoring performance and progress
1. Define employees objectives
1v. Providing feedback
v. Performance evaluation

vi. Define organizational goals

Options :

55213150017, B i rem g

Vi—l—1—1—1V-V
55213150018.

55213150019, = ' VT HIT YV

55213150020, i ks M

Question Number : 56 Question Id : 55213112736 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



The evaluation of Business activities and behavior as right or wrong is called

Options:

Corporate Governance
55213150021.

Business Ethics
55213150022.

55213150023, Social Responsibility

Transprancy
55213150024.

Question Number : 57 Question Id : 55213112737 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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Assertion (A): The equilibrium price 1s the level at which the quantity demanded equals the quantity supplied.

Reasoning (R): At equilibrium price, excess of demand and excess of supply, both  remain zero.

Options:
(A) 1s correct. but (R) 1s incorrect.
55213150025.
(A) 15 incorrect, but (R) 1s correct.
55213150026. ’
(A) and (R) both are correct. but (R) 1s not right explanation of (A).
55213150027.

(A) and (R) both are correct and (R) 1s right explanation of (A).
55213150028.



Question Number : 58 Question Id : 55213112738 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Match the following economists with their contributions
List-I List-IT
1. Paul M Sweezy . Income and Substitution Effect

Alfred Marshall b. Kinked Demand Curve

fa’s]

[ ]

3. Cobb Douglas ¢. Price Determination
4. Robert Giffen d. Production Function
Options :
L W . O 10
55213150029, |74 27¢. 3-d.4-D
1-d. 2-a. 3-b. 4-¢
55213150030.
1-¢c. 2-b. 3-a. 4-d
55213150031.
1-b. 2-c. 3-d. 4-a
55213150032.

Question Number : 59 Question Id : 55213112739 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Consider the following statements

1. Per Capita Income 15 calculated by dividing the national income of the country by the total
population of a country.

1. Disposable Income is the total money income received by individuals and households of a
country from all possible sources before direct taxes.

i1, National Income i the sum of the income received by factors of production in the form of rent.
wages, inferest and profit,

iv. Personal Income 1s the income left with the mdividuals after the payment of direct taxes from
personal income.

Which of the following statements are not true?

Options :

1 and 1v
55213150033.

55213150034, 11 and 1V

55213150035, 1+ and 1v

1 and 111
55213150036.

Question Number : 60 Question Id : 55213112740 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Assertion (A): Bad Corporate Governance practices can tarnish a company’s goodwill

Reasoning (R): Companies that do not cooperate sufficiently with auditors can publish non- compliant
financial results

Options :

55213150037.



Both A and R are correct and R 1s the correct explanation of A

55213150038.

A 1s correct but R 15 incorrect
55213150039.

R 1s correct and A is incorrect
55213150040.

Both A and R are correct. but R is not the correct explanation of A

Question Number : 61 Question Id : 55213112741 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Match the following;

12

LS

List-I
Two Factor Theory of Motivation
Theory Z
Contingency Theory of Leadership

Hierarchy of needs Theory

Options:
Ao Tih: deg
55213150041, LG 27¢. 3-b.4-a
l-c. 2-a. 3-d. 4-b
55213150042.

55213150043.

o

List-IT
William Ouchi

Abraham Maslow
Frederick Herzberg

Fred Fiedler



1-b. 2-¢. 3-a. 4-d
55213150044,
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Consider the following statements regarding the Big 5 Model of personality

1. Neuroticism is a traif characterized by sadness. moodiness. and emotional instability.
i1. Highly conscientious people tend to be organized and mindful of details
il People low m Openness trait are often much more traditional and may struggle with abstract
thinking.
iv. People who are low mn extraversion tend to be more reserved and have to expend energy in

social settings.
v. People who are high in agreeableness tend to be more cooperative

Which of these statements are true:

Options :

1. 11 and 111
55213150045.

1. 111 and v
55213150046.

11, 111, 1v and v
55213150047.

1. 11 111, 1v and v
55213150048.

Question Number : 63 Question Id : 55213112743 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
Identify the correct sequence of the steps involved in Human Resource Planning Process
1. Estimating Manpower Gaps

1. Formulating the Human Resource Action Plan

—

iil. Analysing Organizational Objectives
iv. Forecasting Demand and Supply of Human Resources

v. Preparing an Inventory of Present Human Resources

Options :

55213150049, M- V- 1lv—1-1

55213150050, = Lo e

55213150051, & o Eoaw ¥
VI — R

55213150052.
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Which Management guru contributed the concept of = Career Anchors”

Options :

Edgar Henry Schein
55213150053.



Gary Hamel

55213150054.

Peter F Drucker
55213150055.

Michael Porter
55213150056.
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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This theory tries to determine whether an individual’s behavior is caused by mternal or external factors.
Options :

Attribution Theory
55213150057.

55213150058, pectancy Theory

55213150059. Social Cognitive Theory

Reinforcement Theory
55213150060.

Question Number : 66 Question Id : 55213112746 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
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occurs when the mtroduction of a consequence increases the frequency

or future probability of a behavior

Options :

Positive reinforcement
55213150061.

Punishment
55213150062.

Negative reinforcement
55213150063. &

Extinction
55213150064.

Question Number : 67 Question Id : 55213112747 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
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The tendency to draw a general impression about an mdividual on the basis of a single characteristic
Options:
Stereotyping

55213150065.

Selective Perception
55213150066.

Halo Eftect
55213150067.

Contrast Effect
55213150068.



Question Number : 68 Question Id : 55213112748 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
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Assertion (A): Promotion refers to upward movement of an employee from his current job position to
another that 15 higher in pay. responsibility and hierarchy within an organization.

Reasoning (R): Promotion may not involve a raise in position but a hike in salary is a must.

Options :

Both A and R are correct
55213150069.

Both A and R are incorrect
55213150070.

A 1s correct whereas R 1s incorrect
55213150071.

A 1s mcorrect whereas R 1s correct
55213150072.
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
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Correct Marks : 2 Wrong Marks : 0



Match the following:

List-I List-1I

1. Job Analysis a. It determines the relative worth of jobs

2. Job Evaluation b. It1s a process for determining the duties and skill
requirements of a job

3. Job Enrichment ¢. Itinvolves combining various activities at the same
level n the organization and adding them to the
existing job.

4. Job Enlargement d. It means giving an employee additional
responsibilities previously reserved for his manager or
other higher- ranking positions.

Options:

1-b. 2-a. 3-d. 4-¢
55213150073.

1-a. 2-b. 3-c. 4-d
55213150074.

l-c. 2-d. 3-a. 4-b
55213150075.

1-d. 2-c. 3-b. 4-a
55213150076.
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Identify the correct sequence of the steps mvolved in Training Need Assessment process:
1. Report Training Needs and Recommend Training Plans
ii. Identify the Business Need
il Assess Training Options

iv. Perform a Gap Analysis

Options :

55213150077, - 1V- i1
1, 111, 11, IV

55213150078.

55213150079, - MU
v, ii. 1, 1l

55213150080.
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The process of transferring responsibility for an area of service and its objectives to an extemal provider.

Options :

Outsourcing
55213150081. -

Sharing
55213150082. &

Oftshoring
55213150083. i



Offciting
55213150084.

Question Number : 72 Question Id : 55213112752 Question Type : MCQ Option Shuffling : Yes
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An mdividual's degree of positive or negative emotional attachment to their organization, their job
and their colleagues may be termed as:
Options :

Group cohesion
55213150085.

Group liking
55213150086.

Employvee Engagement
55213150087.

Workplace attraction
55213150088.

Question Number : 73 Question Id : 55213112753 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
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The term. ‘talent management’ is coined by:

Options :



KPMG
55213150089.

T
55213150090. it

Deloitte
55213150091.

Mec. Kinsey
55213150092.

Question Number : 74 Question Id : 55213112754 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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The discriminatory practices that have prevented women from advancing to executive- level jobs is

known as;

Options:

Sex Discrimination
55213150093.

Glass Ceiling
55213150094.

Apartheid
55213150095.

Gender Discrimination
55213150096.

Question Number : 75 Question Id : 55213112755 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Match the following

ListI List IT
1. Strategic Contribution a. Achieving result
2. Personal Credibility b. Managing Change
3. HR delivery ¢. Organisational Design
4. Business Knowledge d. Knowledge of Value Chain
Options :
1-a. 2-b. 3-c. 4-d
55213150097.
1-b, 2-a. 3-c. 4-d
55213150098.
1-d. 2-b. 3-c. 4-a
55213150099.
1-d. 2-c. 3-b. 4-a
55213150100.
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Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Match the following:

List I List IT
1. Financial Leading a. Internal Promotion rate
2. Customer Leading b. Employee engagement Index

Taa

£

Operations Leading Percentage of Training and development

4. Learning and Growth Leading d. Total Labour cost

Options :

1-a. 2-b. 3-c. 4-d
55213150101.

1-b. 2-a. 3-c. 4-d
55213150102.

1-d. 2-b. 3-¢c. 4-a
55213150103.

1-d. 2-¢c. 3-b. 4-a
55213150104.
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Give the correct sequence of PCMM
Options :

Inconsistent Management -. Work unit Management-Change Management-Capability

Management-Business Line Management
55213150105.

Inconsistent Management -, Work unit Management- Business Line Management -Capability

Management- Change Management
55213150106.



Inconsistent Management -. Capability Management-Change Management- Work unit

Management-Business Line Management
55213150107.

Business Line Management -. Capability Management-Change Management- Work unit

Management- Inconsistent Management
55213150108. )
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Assertion (A): Collective Bargaining is industrial democracy at work.

Reasoning (R): It mvolves determination of working conditions and terms of employment through
negotiations.

Options:

Both A and R are true
55213150109.

Both A and R are false.
55213150110.

A is true. but R 1s false.
55213150111.

A 1s false. but R is true.
55213150112.
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
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Assertion (A): Sensitivity training brings change among groups.

Reasoning (R): Organizational Development interventions are the vehicles for causing change
organizations.

Options :

Both A and R are true
55213150113.

Both A and R are false.
55213150114.

A 1s true. but R 1s false.
55213150115.

A is false. but R 1s true.
55213150116.
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A conflict or difference of opinion between the management and workers on the terms of
employers and other workers conditions 1s called:

Options:

Industrial Dispute
55213150117.

Industrial democracy
55213150118.

55213150119, CLera0

Strike
55213150120.
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A fixed asset has a life of 4 years. If it 1s depreciated by the WDV method. its book value at the end
of 4 years 15 24% of its original cost. Hence, the rate of depreciation 1§ -------- :

Options :

24%
55213150121.

28%
55213150122.

30%
55213150123.

32%
55213150124.
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Match the following Accounting standards with their purposes:

List-I

Accounting standard

1. AS-3
AS-14 b.
AS-20 c.

!‘-J

[F%]

4. As-26 d.

Options :

55213150125.

55213150126.

55213150127.

55213150128.

Question Number : 83 Question Id : 55213112763 Question Type : MCQ Option Shuffling : Yes
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Assertion (A): Angle of mncidence is an angle where sales line intersects the total cost. As it

Reasoning (R): It indicates low profit margin of profit after covering fixed and variable costs.

Options :

a.

l-a. 2-d. 3-c. 4-e

l-c. 2-a. 3-b. 4-d

1-b. 2-a. 3-d. 4-c

List-II

Purpose of accounting standard

Accounting for amalgamations
Earnings per share

Cash flow statements
Intangible assets

Leases

expands. the profits increase proportionately.



Both A and B are true and R 1s the correct explanation of A.
55213150129.

Both A and R are true but R 1s not the correct explanation of A.
55213150130.

A 1s true. but R is false.
55213150131.

A 1s false. but R is true.
55213150132.

Question Number : 84 Question Id : 55213112764 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
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Identify the correct sequence of the accounting cycle:

a. Ledger preparation
b. Passing journal entries
c. Passing adjustments
d. Preparing trial balance
e. Closing accounts and stock valuation
f. Preparation of financial statements
Options:
-e-c-d-b-a
55213150133.
a-b-c-d-e-f
55213150134.

b-a-d-c-e-f
55213150135.



b-a-c-e-d-f

55213150136.

Sub-Section Number : 2
Sub-Section Id : 5521311126
Question Shuffling Allowed : No

Question Id : 55213112765 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0 Allowed Progression :
Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In

Seconds) : 0 Allow Volume Control : Yes
Question Numbers : (85 to 87)
Question Label : Comprehension

Use the following data and answer the questions from 35 to 37.

A company 1s producing an 1dentical product in two factories. The following are the details

Details Factory A Factory B
Selling price per unit Rs. 50 Rs. 50
Variable cost per unit Rs. 40 Rs. 35
Fixed cost Rs. 2.00.000 Rs. 3.00.000

Depreciation (included in above) Rs. 40.000 Rs. 30.000
Sales (Units) 30,000 20.000
Production capacity (Units) 40.000 30.000

Sub questions

Question Number : 85 Question Id : 55213112766 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0



What is the BEP for Factory A?

Options :

20.000 units
55213150137.

15.000 units
55213150138.

18.000 units
55213150139.

25.000 units
55213150140.

Question Number : 86 Question Id : 55213112767 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes
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What is the BEP for the Factory B?

Options :

20.000 units
55213150141.

30.000 units
55213150142.

15.000 units
55213150143.

40.000 units
55213150144.



Question Number : 87 Question Id : 55213112768 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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What 1s the cash BEP of Factory A?

Options:
14.000 units
55213150145.
10.000 units
55213150146.
17.000 units
55213150147.
16.000 units
55213150148.
Sub-Section Number : 3
Sub-Section Id : 5521311127
Question Shuffling Allowed : Yes

Question Number : 88 Question Id : 55213112769 Question Type : MCQ Option Shuffling : Yes
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Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
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Match the following Accounting standards with their purposes:

List-I List-II
Accounting standard Purpose of accounting standard
1. AS-5 a.  Segment reporting
2. AS-10 b.  Property. plant and equipment
3. AS-17 ¢.  Consolidated fiancial statements
4. AS-21 d.  Net profit or loss. and changes n accounting policies

e.  Fmancial reporting of interests in joint ventures

Options :

1-b. 2-a. 3-c. 4-d
55213150149.

1-a. 2-b. 3-c. 4-d
55213150150.

1-d. 2-b. 3-a. 4-¢
55213150151.

1-c. 2-b. 3-d. 4-e
55213150152.

Question Number : 89 Question Id : 55213112770 Question Type : MCQ Option Shuffling : Yes
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According to Gordon’s dividend capitalization model. if the share price of a firm 1s Rs. 43. ifs
dividend pay-out ratio is 60%. the cost of equity and retum on investment are 9% and 12%
respectively and if the number of shares is 12.000. the net profit of the firm is:

Options:
55213150153.



Rs. 15,480

Rs. 23,220
55213150154.

Rs. 36.120
55213150155.

Rs. 54.180
55213150156.
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Assertion (A): Sometimes there may be two or more break-even points in production and sales
of a firm.

Reasoning (R): It is due to linear behavior of the cost and sales,

Options :

A 1s true. but R 1s false.
55213150157.

A 1s false. but R is true.
55213150158.

Both A and R are false.
55213150159.

Both A and R are true. but R is not the correct explanation of A.
55213150160.



Question Number : 91 Question Id : 55213112772 Question Type : MCQ Option Shuffling : Yes
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A Foreign Exchange quotation in which exchange rate is expressed as the price per-unit of foreign

currency in terms of the home currency is known as
Options:

Indirect Quotation
55213150161.

Direct quotation
55213150162.

Foreign Currency Quotation
55213150163. =

Fixed Rate Quotation
55213150164.

Question Number : 92 Question Id : 55213112773 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
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The rate of return associated in the best investment opportunity for the firm and its shareholders that
will be foregone if the project presently under consideration by the firm.
Tls statement mdicates

Options :

Explicit cost
55213150165.



Implicit cost

55213150166.

Future cost
55213150167.

Specific cost
55213150168.

Question Number : 93 Question Id : 55213112774 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
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Match the following:

List-I List-II
gt
1. Cost of debt i
(p+N)/2
2. Cost of equity b. Ke(l-1)
gy PR
3. Cost of preference g et
(D+NP)/2
, S : Dp
4. Cost of retamned earnings d. -
Options :
l-a. 2-¢. 3-d. 4-b
55213150169.
1-b. 2-d. 3-c. 4-a
55213150170.
1-c. 2-b. 3-a. 4-d
55213150171.

l-¢c. 2-d. 3-a. 4-b
55213150172.
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
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Correct Marks : 2 Wrong Marks : 0

An account 1s maintained by a bank in India with a bank at abroad is referred to as
Options :

Nostro Account
55213150173.

Loro Account
55213150174.

Vostro Account
55213150175.

Current Account
55213150176.

Question Number : 95 Question Id : 55213112776 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
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Sweat equity 1s:
1. A new class of equity share
i1. Issued to the Employees and Directors
i1, Issued to the mvestors also

iv. Issued out of the class of equity shares already issued by the company:.

Which of the above statements are true?



Options :
1 and 1v
55213150177.

1 and 111
55213150178.

1nand 1
55213150179.

55213150180, 11 and 1v
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Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Mr. X expects 20 percent returns from his investment. The dividend from the Y stock is Rs. 2.0 and

the present price 1s Rs. 50. What should be the future price of the stock?
Options:

Rs-58
55213150181.

Rs. 60
55213150182.

Rs. 55.33
55213150183.

Rs. 63.33
55213150184.

Question Number : 97 Question Id : 55213112778 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
Arrange Capital budgeting process in the right sequence:
Options :

Screening — Idea generation — Evaluation — Selection — Implementation- Review
55213150185.

Evaluation — Idea generation — Screening — Selection — Implementation- Review
55213150186.

Implementation — Idea generation— Screening— Evaluation— Selection- Review
55213150187.

Idea generation— Screening— Evaluation— Selection — Implementation- Review
55213150188.
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Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Arrange Portfolio Planning in proper sequence:

Options :

Capital Market Expectation — Identification of objectives and constrains — Investment policy

cc0131501g9, Slatement - Asset Allocation Strategy

Asset Allocation Strategy- Identification of objectives and constrains — Investment policy

statement- Capital Market Expectation
55213150190.



Identification of objectives and constrains— Investment policy statement- Capital Market

Expectation - Asset Allocation Strategy
55213150191.

Investment policy statement— Identification of objectives and constrains- Capital Market

Expectation- Asset Allocation Strategy
55213150192.
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Which of the following statements is correct?

Options :

If the NPV of a project 1s greater than 0. its PI will equal 0.
55213150193.

If the IRR of a project 1s 0%. its NPV, using a discount rate, k. greater than 0, will be 0.
55213150194. ’ N

If the PI of a project is less than 1. its NPV should be less than 0.
55213150195.

If the IRR of a project is greater than the discount rate. k. 1ts PT will be less than 1 and its

NPV will be greater than 0.
55213150196.
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You are considering two mutually exclusive mvestment proposals. project A and project B. B’s
expected value of net present value 1s Rs. 1.000 less than that for A and A has less dispersion. On the
basis of risk and return, you would say that:

Options :

Project A dominates Project B
55213150197.

Project B dominates Project A
55213150198.

Project A 1s more risky and should offer greater expected value.
55213150199. N

Each project is high on one variable. so the two are basically equal.
55213150200.

Question Number : 101 Question Id : 55213112782 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
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Low cost. Differentiation and Focus are examples of
Options:
Corporate strategies

55213150201.

Operational strategies
55213150202.

Business strategies
55213150203.

Functional strategies
55213150204.
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Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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Industry/ Sector benchmarking compares:

Options :
Organizational performance between firms/public sector organizations in different mdustries or

sectors
55213150205.

Organizational performance between firms/public sector organizations in the same industry or

sector
55213150206.

Organizational performance between firms/public sector organizations in different countries
55213150207.

Organizational performance between different divisions of the firmer & Solution
55213150208.

Question Number : 103 Question Id : 55213112784 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
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Which of the following statements is not true regarding corporate strategies?
Options :

They are concerned with the broad and more long-term issues of the organization
552131502009.



They are concerned with how the organization 1s going to compete 1n a specific business or

industry
55213150210. 5

Are concerned with the direction the organization is headed
55213150211.

They are concerned with the business(es) that the organization is in and the businesses they want

to be 1n
55213150212.

Question Number : 104 Question Id : 55213112785 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
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Match the following:

List -I List-II

1. Michael Porter a. Competitive strategy

2. Macmillan b. Pre-emptive strategies

3. Boster c. Perspective on experience

4. Philip kotler d. Marketing Managment
Options:
55213150213, L 20 e 4d

l-a. 2-d. 3-c. 4-b

55213150214.

1-¢. 2-a. 3-b. 4-d
55213150215.



1-b. 2-d. 3-c, 4-a
55213150216.
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A builder who has a full order book during a period of economic prosperity and leaves his potential

customers waiting for work to be completed 1s most likely showing:

Options :

Marketing orientation
55213150217.

Selling orientation
55213150218.

Production orientation
552131502109.

Societal orientation
55213150220.

Question Number : 106 Question Id : 55213112787 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
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Which of the following is the least likely to be associated with a firm's macro-environment?

Options :

Study of the changing birth rate
55213150221.



Analysis of household savings ratios
55213150222.

A new staff incentive scheme
55213150223.

Cultural convergence
55213150224.

Question Number : 107 Question Id : 55213112788 Question Type : MCQ Option Shuffling : Yes
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Match the following:
List-I List-II
1. Bill Bishop

=]

. Managing in the Market space

-2

. D.Bird b. Commonsense Direct Marketing

. Daniel S. Jonal

LS

L]

Strategic Marketing for the Digital Age

=

. Jeffery F. Rayport d. On-line Marketing

Options :

1-a. 2-b. 3-c. 4-d
55213150225.

1-b. 2-a. 3-d. 4-¢
55213150226.

1-b. 2-a. 3-c. 4-d
55213150227.



1-c. 2-b. 3-d. 4-a
55213150228.

Question Number : 108 Question Id : 55213112789 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
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Assertion (A): Marketing occupies an important position in the organization.

Reasoning (R): Marketing 1s the function of business concerned with creation of a consumer

Options :

Assertion (A) and Reason (R) both are true.
55213150229.

Assertion (A) 1s true. but Reason (R) is not true
55213150230.

Assertion (A) 1s not true. but Reason (R) 1s true
55213150231.

Assertion (A) and Reason (R) both are untrue.
55213150232.
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Michael Porter’s five force competition theory include

1.
i1.
1il.

1v.

V1.

Vii.

Government
New enfrants
Substitutes
Suppliers
Customers
Industry

Employees

Options :

1, 11, 111, 1V, V

55213150233.

i, 11, 1V, V, Vi

55213150234.

111, 1V, V. Vi, vii

55213150235.

Vii, Vi, V, 1ii, 11

55213150236.
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Assertion (A): The organization structure should follow the organization strategy.

Reasoning (R): Structures are for achieving objectives and are derived from organizations overall strategy.

Options :

Both (A) and ( R) are correct

55213150237.



Both (A) and (R) are incorrect

55213150238.

(A) 1s correct. but (R) 1s not the right explanation of (A)
55213150239.

(A) 1s correct and (R) 1s the right explanation of (A)
55213150240.
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When any potential customer become a regular user of product, this change 1s called

Options :

Adoption
55213150241.

Cognitive dissonance
55213150242.

Pre Purchase behavior
55213150243.

Post-Purchase behavior
55213150244,

Question Number : 112 Question Id : 55213112793 Question Type : MCQ Option Shuffling : Yes
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Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Feldwick (1996) suggests brand equity 1s a composite of

Options:

Brand value. strength. and description
55213150245.

Brand value. strength. and relationships
55213150246.

Brand future. weight. and description
55213150247.

Brand association. strength. and dominance
55213150248.
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mvolves identifying activities management feels the salespeople should perform to
produce the desired results.

Options:

SWOT analysis
55213150249.

Environmental audit
55213150250.

Training analysis
55213150251.



Needs assessment
55213150252.

Question Number : 114 Question Id : 55213112795 Question Type : MCQ Option Shuffling : Yes
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Minimizing the amount of role conflict and role ambiguity experienced by employees will help
reduce

Options :

Knowledge gap
55213150253.

Standards gap
55213150254.

Delivery gap.
55213150255.

Communications gap
55213150256.
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Which of the following statements about the pricing of services (compared to the pricing of goods) 1s
false?

Options :

55213150257.



The demand for services tends to be more elastic than the demand for goods

Cost-oriented pricing 1s more difficult for services
55213150258.

Comparing prices of competitors 1s more difficult for service consumers.
55213150259.

Self-service i1s a viable competitive alternative.
55213150260.
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Match the following:

List- T List-II
1. Information a. Product Quality
2. Socio- cultural b. Tradition
3. Group Influence ¢. Organization
4. Buying Motives d. Desire
Options:
l-a. 2-c. 3-b. 4-d
55213150261.
1-c. 2-d. 3-b. 4-a
55213150262.
1-a. 2-b. 3-c. 4-d
55213150263.

55213150264.



l-a. 2-c. 3-d. 4-b

Question Number : 117 Question Id : 55213112798 Question Type : MCQ Option Shuffling : Yes
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In terms of increasing risk associated with different modes of entry in International marketing which of

the following 1s the right sequence:

Options :

Exporting. Licensing. Joint Venture. Wholly owned subsidiary
55213150265.

Licensing. Exporting. Joint Venture. Wholly owned subsidiary
55213150266.

Wholly owned subsidiary. Joint Venture. Licensing. Exporting
55213150267.

Joint Venture. Licensing. Exporting. Wholly owned subsidiary
55213150268.
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Which of the following are the assumptions related to the theory of consumer behavior as per the
Cardmnal Utility Approach

1. Consumer is rational
i. No limit on money income
i, Utility cardinally measurable
iv. Diminishing marginal utility of money
v. Diminishing marginal utility of commodities

vi. Maximization of satisfaction.

Options :
55213150269, 1+ 1+ 1L 1V
1V, V, VL, 1
55213150270.
1, i1, 'V, V1
55213150271.
11, 111, v, Vi
55213150272.
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Assertion (A): General business conditions can greatly modify the number and type of middlemen available
Reasoning (R): Technological advances here made a significant effect on increase i online purchase.

Options:

A 1s incorrect and R 1s correct
55213150273.



A and R both are incorrect
55213150274.

A and R both are correct and R 1s the right explanation of A
55213150275.

A and R both are correct. but R 1s not the right explanation of A.
55213150276. )

Question Number : 120 Question Id : 55213112801 Question Type : MCQ Option Shuffling : Yes
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Assertion (A): Selling is important not merely for mcreasing the profits of businessmen. but also for
making goods and services available to the consumers m society.

Reasoning (R): It is the process whereby goods and services finally flow to the consumers. who need
them and the firm performs its functions of distributing its products among consumers.

Options :

55213150277, Assertion (A) and Reason (R) both are true

Assertion (A) 1s true. but Reason (R) is not true
55213150278.

Assertion (A) 1s not true, but Reason (R) 1s true
55213150279.

Assertion (A) and Reason (R) are true and Reason (R) is the Reason of Assertion (A)
55213150280.

Question Number : 121 Question Id : 55213112802 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 2 Wrong Marks : 0
In a moderately asymmetrical distribution

Options:

AM < GM < HM
55213150281.

AM = GM = HM
55213150282.

55213150283, oM = AM =HM

HM > GM > AM
55213150284.
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The standard deviation of Binomual distribution 1s

Options:
£/ P4
55213150285.
npq
55213150286.
np
55213150287.

55213150288.



o I T |

npq
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Match the following:

List-I List-IT
1. Mean chart a ctifc
2. Range chart b. p+3 p1-p)

n

3. C- chart C. H+hp xR
4. P- chart d. Bast -:j__
5. a—chart e. D4R

Options :
l-c. 2-e. 3-a. 4-b. 5-d
55213150289.
l-a. 2-c. 3-d. 4-e. 5-b
55213150290.
1-d. 2-b. 3-e. 4-a. 5-c
55213150291.

1-b. 2-a. 3-c. 4-d. 5-e
55213150292.
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Match the following

List-I List-IT
1. Pay- off a. Regret table
2. Laplace principle b. Pessimistic decision
3. Opportunity loss ¢. Uncertam about the events
4. Maximin d. Conditional value
5. Maximax e. Optimistic
Options :
-d, 2-c, 3-a, 4-b, 5-
55213150203, 170> 2°C, 3-8, 4D, 5-¢
1-b. 2-a. 3-c. 4-e. 5-d
55213150294.
1-a. 2-e. 3-b. 4-c. 5-d
55213150295.
1-e. 2-b. 3-a. 4-d. 5-¢
55213150296.
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When the null hypothesis has been true, but the sample information has resulted in the rejection of

the null. a has been made.




Options :

Level of significance
55213150297. +

Tvpe II error
55213150298.

Critical value
55213150299.

Type I error
55213150300.
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Which one of the following probability distribution is used for determining whether or not a

population has a Poisson probability distribution?

Options:

F-distribution
55213150301.

Normal distribution
55213150302.

Binomual distribution
55213150303.

Chi-square distribution
55213150304.
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Question Shuffling Allowed : No

Question Id : 55213112808 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
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Question Numbers : (127 to 130)

Question Label : Comprehension

Answer questions from 77-80 after going through the following Paraphrase

Personality. which makes individuals unique. 15 a complex, multidimensional concept. It is defined
as “a relatively permanent set of psychological characteristics that create, guide and monitor human
behavior”. Personality usually stabilizes and reaches maturity by the age of 30, There are several individual
differences (personality fraits) that are related to employee needs and operational effectiveness. For
example, Personality traits like Locus of control. extroversion and introversion, Machiavellianism,

emotionality and socially acquired needs do ifluence the behavior of people.

Sub questions

Question Number : 127 Question Id : 55213112809 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes
Correct Marks : 2 Wrong Marks : 0
The degree to which an individual 1s pragmatic, maintains emotional distance, and believes that ends

can justify means is known as:

Options:

Narcissism
55213150305.



Neuroticism
55213150306.

Machiavellianism
55213150307.

Emotional Stability
55213150308.

Question Number : 128 Question Id : 55213112810 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
Yes

Correct Marks : 2 Wrong Marks : 0

Individuals who believe that they control what happens to them are called:

Options :

Internals
55213150309.

Externals
55213150310.

Altruists
55213150311.

Agnostic
55213150312.

Question Number : 129 Question Id : 55213112811 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :



Yes

Correct Marks : 2 Wrong Marks : 0

Acquired needs theory 1s associated with:

Options :

Adam Smith
55213150313.

Charles Handy
55213150314.

David Mc Clelland
55213150315.

Stacy Adams
55213150316.

Question Number : 130 Question Id : 55213112812 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes
Correct Marks : 2 Wrong Marks : 0

The sum total of ways in which an individual reacts and interacts with others :

Options:

Aptitude
55213150317.

Attitude
55213150318.

Impression Management
55213150319.

55213150320.



Personality

Sub-Section Number : 5
Sub-Section Id : 5521311129
Question Shuffling Allowed : Yes

Question Number : 131 Question Id : 55213112813 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following constitutes Foreign Direct Investment?

Options :

A speculator trying to make a profit by buying company shares on BSE.
55213150321.

A UK energy company buying territory in India where it expect to find oil reserves.
55213150322.

A tourist purchasing Indian currency to spend on holiday in India.
55213150323. -

A company signing an agreement with a wholesaler in India to distribute its products in India.
55213150324.

Question Number : 132 Question Id : 55213112814 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



With reference to BOP, which of the following constitutes/constitute the current account?
1. Balance of trade
il. Foreign assets
i1, Balance of mnvisibles

iv. Special Drawing Rights

Options :

1 only
55213150325.

11 and 111
55213150326.

1 and 11
55213150327.

1. 11. and 1v
55213150328.

Question Number : 133 Question Id : 55213112815 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Who are the top three countries in the world with largest SDR quotas in IMF?

Options :

China. USA. Australia
552131503209.

China. Australia. Japan
55213150330.

USA. Japan. China
55213150331.



USA. China. Japan
55213150332.

Question Number : 134 Question Id : 55213112816 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Find out the sequence of documents required for the export of goods from India:

Options :
55213150333, R4 Bill of lading. LOC. Export General Manifest
Export General Manifest. LOC. Bill of lading. AR4
55213150334.
AR4. LOC. Bill of lading. Export General Manifest
55213150335.
LOC. Bill of lading. AR4. Export General Manifest
55213150336.

Question Number : 135 Question Id : 55213112817 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Match the following international organizations with their establishment years:

List-1 List-11
International Organization Year of establishment
1. WTO a. 1945
2. SAARC b. 1985
3. NAAFTA e 1994
4. IMF d 199
y U e, 1956
6. IDA f. 1960
Options :
1-d. 2-b. 3-c. 4-a. 5-e. 6-f
55213150337.
1-d. 2-e. 3-f. 4-c. 5-a. 6-b
55213150338.
1-a. 2-b. 3-c. 4-d. 5-e. 6-f
55213150339.
1-b. 2-a. 3-c. 4-d. 5-e. 6-f
55213150340.

Question Number : 136 Question Id : 55213112818 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Assertion (A): If an mcoming packet of information is flagged by filters. firewall does not
allow them through.

Reasoning (R): In online transactions the server computer has to allow only authorized users.

Options :



A 1s true. but R is not the correct explanation of A.

55213150341.
A 1s false. but R 1s frue.
55213150342.
Both A and R are false.
55213150343.
Both A and R are true and R 1s the correct explanation of A.
55213150344.
Sub-Section Number : 6
Sub-Section Id : 5521311130
Question Shuffling Allowed : No

Question Id : 55213112819 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0 Allowed Progression :
Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In

Seconds) : 0 Allow Volume Control : Yes
Question Numbers : (137 to 140)

Question Label : Comprehension

Answer questions from 87-90 after going through the following Paraphrase

The WTO was established 23 years ago with 164 nations including India. replacing GATT. at Switzerland to
regulate trade m goods and services and intellectual property rights, The highest decision making body of
the WTO. the Ministerial Conference usually meets every two years. In the absence of WTO. the average
country would face an increase in tariffs on their exports by 32 per cent. It has to protect the principle of
no-discrimination through MFN mule and enforcement of TRIPS and TRIMS. However, WTO is
mcreasingly mtruding m India’s sovereign domestic space i putting India under pressure to liberalize her

service mdustries as well as intrusion mto TRIPs and TRIMs.



Sub questions

Question Number : 137 Question Id : 55213112820 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes
Correct Marks : 2 Wrong Marks : 0
What does the WTO s rule of MFN mean?

Options :

Extending special favour to few member countries equally.
55213150345.

Granting a lower custom duty to a favoured country.
55213150346.

Receiving equal trade advantages as the favoured nation by the country granting such treatment.
55213150347.

Collecting higher taxes and duties from a developed country when compared to less developed

nation.
55213150348.

Question Number : 138 Question Id : 55213112821 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes
Correct Marks : 2 Wrong Marks : 0
When did India become the member of GATT?

Options :



1950

55213150349.

1955
55213150350.

1995
55213150351.

1948
55213150352.

Question Number : 139 Question Id : 55213112822 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
Yes

Correct Marks : 2 Wrong Marks : 0
What 1s TRIPS?

Options :

Tariffs on Regular and Intelligent Services
55213150353.

Trade in Renovated and International Products and services
55213150354,

Trade Related Intellectual Property Rights
55213150355.

Trade Restricted Intellectual Property Services
55213150356.

Question Number : 140 Question Id : 55213112823 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0
Why is India criticizing WTO?
Options :

Intruding India’s sovereignty in elections.
55213150357.

Appreciating India’s investment measures.
55213150358.

Entrance by force in intellectual and investment measures.
55213150359.

Promoting invasion of copy rights and patents.
55213150360.

Sub-Section Number : 7
Sub-Section Id : 5521311131

Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 55213112824 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Match the following unit according MSME Act 2006.

List I List IT
1. Micro Production a. Rs.25 lakhs to Rs. Scrore
2. Small Production b. Not exceeding 25 lakhs
3. Medium Production ¢. Rs 5 crores to Rs.10 Crores
4. Micro service unit d. Not exceeding RS.10 lakhs
Options :
1-a. 2-b. 3-c. 4-d
55213150361.
1-b. 2-a. 3-c. 4-d
55213150362.
1-d. 2-b. 3-c. 4-a
55213150363.
1-d. 2-¢c. 3-b. 4-a
55213150364.

Question Number : 142 Question Id : 55213112825 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Match the following

List I List I
1. Innovative a. Refuse to adopt opportunities
2. Intative b. Cautious
3. Fabian c. Aggressive assemblage of information and analysis of results
4. Drone d. Readiness to adopt successful Innovations

Options:



55213150365.

1-b. 2-¢. 3-d. 4-a
55213150366.

1-c. 2-d. 3-b. 4-a
55213150367.

1-d. 2-¢c. 3-b. 4-a
55213150368.

Question Number : 143 Question Id : 55213112826 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Arrange Entrepreneurial process:

Options:
Establish Vision-Persuade Others-Gather Resources- Identify an Opportunity -Create Venture
55213150369, Change and Adapt with time
Identify an Opportunity —Establish Vision-Persuade Others-Gather Resources-Create Venture
— Change and Adapt with tume
55213150370.
Identify an Opportunity — Create Venture — Establish Vision-Persuade Others-Gather
Resources- Change and Adapt with time
55213150371. N

Change and Adapt with time-Identify an Opportumty —Establish Vision-Persuade Others-

Gather Resources-Create Venture.
55213150372.



Question Number : 144 Question Id : 55213112827 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Assertion (A): Intrapreneur is an entrepreneur in an organization.
Reasoning (R): To integrate risk and innovation. and as well as reward .
Options :

Both A and R are true
55213150373.

Both A and R are false.
55213150374.

A is true. but R 1s false.
55213150375.

A is false. but R 1s true
55213150376.

Question Number : 145 Question Id : 55213112828 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

New Models emerge when there is:

Options :

Total Uncertainty
55213150377.

High degree of Uncertainty
55213150378.



Medium degree of Uncertainty
55213150379.

Visually zero uncertainty
55213150380.

Question Number : 146 Question Id : 55213112829 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The iitiative taken by the Telangana Government to help women entrepreneurs is :

Options :

She —Hub
55213150381.

WE-hub
55213150382.

T-Hub
55213150383.

Dwacra
55213150384.

Question Number : 147 Question Id : 55213112830 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



The process of allowing answers to a negative question to flow out without validation 1s termed as:

Options :

Brainstorming
55213150385.

Brain writing
55213150386.

Reverse Brainstorming
55213150387.

Attribute Listening
55213150388.

Question Number : 148 Question Id : 55213112831 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The financing that investors provide to startup companies and small businesses that are believed to
have long-term growth potential 1s called

Options :

Venture capital
55213150389.

Mutual fund
55213150390.

Softloans
55213150391.

[ease finance
55213150392.



Question Number : 149 Question Id : 55213112832 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Radical Innovation takes place when there 1s :

Options :

Total Uncertainty
55213150393.

High degree of Uncertainty
55213150394.

Medium degree of Uncertainty
55213150395.

Low Uncertainty
55213150396.

Question Number : 150 Question Id : 55213112833 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
Rural Entrepreneurship Development Program (REDP) 1s a program supported by :
Options :

NIMSE
55213150397.

55213150398.



SECs

IDCs
55213150399.

NABARD
55213150400.



